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DATA SCIENCES : DATA WAREHOUSING AND DATA
MINING
fuifa amg : 39 (FAftreham 37 : 60
Time allowed : 3 Hours| [Maximum Marks : 60
Pz (i) YEH-vFH dTGA-¢ HeadE
Note : There are THREE sections in the paper A, B and C.
(i) QFAA-TF ¥ G&;T 1 F @t 10 ¥ @ I A | Y% YT U 3 &1 8 Ud
&t 10 T TG ITFRF T F B |
Answer all the 10 parts of the question Ne. 1 in Section A. Each part carries
one mark and all 10 parts have objective type questions.
(i) Q- % 8 ¥ 4 @ o1 6 T & IR AT | TAF WA 3 3% H 8 T
$7%1 5 T / 50 WK H I GIT /|
Answer any 6 questions out of the 8 questions in Section B. Each question
carries 3 marks and to be answered within 5 lines / 50 words.
(iv) - % 6 oA F @ g 4 WA & I AT | TAF T 8 I H 8
g7 15 0 / 150 Il 7 3 T |
Answer any 4 questions out of the 6 questions in Section C. Each question
carries 8 marks and to be answered within 15 lines / 150 words.
() T GF9 & G 91 B HHAR U TTE E Y |
Solve all the questions of a section consecutively together.
i) 2T STis s @ # Rl 4 s sas & a8 |

(a)
(c)

(a)

Only English version is valid in case of difference in both the languages.

BEHE - T
SECTION - A
@) Fre e o aeef fafa @ @ 7
urfémfam fafu (b) Fha fafy
Frga- fafa (d) -y fafa
Which of the following is not a clustering method ?
Partitioning method (b) Hierarchical method
Volume method (d) Density based method ‘
(10f 4) P.T.0.

g
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(i)

(iii)

OLTP &1 g0 918 & :

(a) FHAATEA Shdlhel TRMET (b))  3ATAeTsd Zioae grEfE
(c) 3AiAeTEa 2z wrEfam (d) 390 | © HIS A&l
OLTP stands for

(a) Online Technical Processing (b) Online Transaction Processing
(¢) Online Time Processing (d) None of the above
ROLAP &1 1419 2 :

(a) Treifea siems wiefewra wafm

(b) TEvEe e Tdfesa TEE

(c) Trerwre sAiers waese safe

(d) It & 1S T

ROLAP stands for

(a) Relative Online Analytical Processing

(b) Relational Online Analytical Processing

(¢) Relational Online Assessment Processing
(d) None of the above

(iv) Afequl, Tera a1 T 21T % |1y SHaER FEAT

(v)

(a) HicieeH (b) rafEm

(c) ZEHHIA (d) zefreIm
Treating with erroneous, incorrect or missing data is called
(a) Selection (b) Preprocessing

(c) Transformation (d) Interpretation
KDD arar 2

(a) o121 H | AHhHI 1 AR Feprer 61 el wiewmn |

(b) 11 &1 AR FaTE |

(¢) H=1 % |R e |

(d) frami 1 aw fasre |

KDD describes the

(a) Whole process of extraction of knowledge from data
(b) Extraction of data

(¢) Extraction of information
(d) Extraction of rules

(vi) o= 1 & 9 gdum qur QA ST e %! §YTEd 2 7

(a) OLTP (b) OLAP

(c) ©iesfe (d) 3Ioted | F S T

Which of the following manages both current and historic transactions ?
(a) OLTP (b) OLAP

(¢) Spreadsheet (d) None of the above
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(vii) A A A T R FIFR R ?

(a) ATHAA (b) TEA

(c) iféaa (d) It g+t

Which of the following is/are type(s) of data attribute ?

(a) Nominal (b) Binary

(¢) Ordinal (d) All of the above
(viii) ST SATET3E BT 2

(a) <had Jgd I (b) Haa foraa @

(c) @Ml gg-fore am (d) I9Ed d 8 FIE T

The data warehouse is

(a) read only (b) write only

(¢c) read-write both (d) None of the above
(ix) ore JTETs $i Bl argse &1 gdE T e

(a) ST AETIH FA (b) OLAP &t

(c) WeWETTH (d) oW TH

The third level of three-tier architecture of data warehouse is

(a) Data warehouse server (b) OLAP server

(c) Front end tools (d) Back end tools

7294

(x) mﬁwm%mmﬁammmmmmmz ?

(a) U BUgH (b) HUre FaeT A
() Uedi-ave FemEifhe (d) Iurea |l

Which of the following technique(s) is/are used to improve classification

accuracy ?
(a) Ensemble methods (b)  Support vector machines
(c) Pattern based classification (d) All of the above

[y -t
SECTION - B
5z wehim s fdifess 1 amET |

Describe Data mining task primitives.

3. OLAP®IT2 ? HHITET |
What is OLAP ? Describe.

4. a1 AR 3t “gTen JaRETIE’ i uferiyd Hif |

Define ‘Data mining’ and *Data warehouse’.

(1x10)

(3)

3)

3)
P.T.0.
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10.

11.

13,

14.

15.

2121 HigfAn 1 HIEATH dehTeh i Yol YT FHFET |
Describe the basic concept of correlations technique in data mining.

“HYIE St g’ #9127 HHSATRU |

What is ‘support vector machine’ ? Describe.

‘Yo -aeg Ferfafhaes’ = gid1 8 7 999sT |

What is ‘pattern based classification’ ? Describe.

HAEITATH T BT 2 7 IN3TATIH & YehR Fad130 |

What are outliers ? Write the types of outliers.

a9 w3 & fafa= wer saie |

Describe the different types of web mining.

Y -
SECTION-C
211 JIETIH & et angehent &1 afea auia Hifsg |

Explain the three-tier architecture of a Data warehouse with diagram.

e e mrsfan @0 2 ¢ = -dre Wiade e afin «1 augmsu |

What is frequent pattern mining ? Explain constraint — based frequent pattern mining.

- aEE FATH BRI &1 THATI |

Explain rule based classification.

T AZah FATHIheh 1 FHHTET |

Explain neural network classification.

deursfan w2 7 U9 % ueifien & swEsn |

What is web mining ? Explain page rank algorithm.

121 dirafE F=n 2t 8 7 grer fsafan % vye =i w1 wngmE |

What is Data preprocessing ? Explain the major steps of data preprocessing.

b

3)

(3)

(8)

®)

(8)

(8)

3

(8)



